COCKTAIL LAMP

Shade some cells black such that all black cells in a bold-outlined region
are connected orthogonally (forming a “block”). A cell with a number
indicates how many cells in the region must be shaded black; in a region
without a number, any amount of cells may be shaded (all cells can also

be unshaded).

When two cells are orthogonally adjacent across a region boundary, at
least one cell must be unshaded. All blocks of black cells must be
connected to each other through their corners.

No 2x2 cell area within the grid can contain all black cells.
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